Topic n
Origin of Life and Evolution of Life Forms

1. Evolutionary biology is

{#) the study of history of life forms on carth
{b) study of pedigrees of life forms on carth
{c) equivalent o demography

{d) equivaient to anthropology

Which of the following statement about orgin of life

is incormect?

{8) The universe is almost 20 billion years old

{b) Big Bang theory explained that universe oniginated by a
buge explosion

(c) Present day galaxies are formed by the condensation of
hydrogen and helium under gravitational pull

{d) None of the above

3. Identify the correct statement.

{a) Earth was formed about 4.5 billion years ago

{b) Early earth had no atmosphere

{e) The temperature of universe came down dus to its
expansion

(d) All of the above

4. According to one of the most widely accepted

theories, earth’s atmosphere before origin of life
consisted of a mixture of

{a) O, CHy, Oy and H;O

(b) Oy, NH,, CH, and H,0O

{e) H;, CO;, NH, and CH,

{d) CH,, NH,, H; and H,O vapours

The ...A... from the sun broke up water into

hydrogen and oxygen and the .. B... escaped.
Oxygen combined with ammonia and methane ko

form ...C..., . CO, and others. The ozone layer wis
formed. As it cooled, the water vapours fell as ram, ¥
fill all the depressions and form ...D... .

Choose the comect option for A, B, C and D'to
complete the given paragraph.

{a) A=~IR rays, B-lighter H;, C—water [}-oceans

(b} A-UV rays, B-lighter H,, C—water D-oceans

(c) A-UV rays, B-heavier H,, C—water D—ocoans

{d} A-UV rays, B-heavier H;, C-water D-ocoans

%ichﬂlmryargmmtztbﬂﬁfemunhnﬂﬁ’
outer space?

{a) Theory of panspermia

(b} Cosmozoic theory

{¢) Spore theory
(d} More than one oplion are correct

Scanned by CamScanner



7. For a long ime it was believed that life came out of

: 17, The given diagram represents Miller's experiment.
decaying and rofting matier like straw mud,

ete, This Choose the correct combination of labelling for
was the theory of AR C Dand E.
{a) catastrophism {h) spontaneoys EEneriion 9
(c) panspomna 1} chemogeny i J’:’_%'Eﬁ
B. Who discarded the theory of spontaneons generation ] ,.' N 1
forever” E..lll_ it I| -;—'If;ﬂ—ﬂ'
(a) Lous Pasteur ib) Francisco Redi L .;.;.qu /
ich spallanzan () Aristotle “I Tf
8. Who proposed tha t_h: first form of life could have
come from pre-existing non-living organic < :l
molecules! ] 1
(a) SL Miller {b) Oparin and Heldane - =

i) Charles Darwin {d) Alfred Wallace Hlﬁj
10. What happened to NHy present in the primary E

atmosphere during its conversion 1o the secondary

i tares (a) A-Electrodes, B-NH, + H, + H,0+ CH,, C_Cold
{a) It got oxidised 10 Ha and water water, D-Vacuum, E-U-trap
(¢) Mostof it gt oxidised to pitrogen oxides 35 B -« water, D-Vacyum, E-U-trap 6k 2
(d) hs concentration was decreased due to O- formation (c} ::E:w B-KH, + H,0, C-Steam, D-U-trap, _ b
11. Expenmental evidence of chemical evolution was (d) A-Electrodes, B-NH, + H, + H.0+
: - CH,, C-Steam,
Eiven by D-Vacoum, E—Lr-l:r.ﬁq:sI G :
{a) Miller (b} Haldane - L i
: 18. W ;
(c) Operin (d) Al ofthese ; e mﬂilm&’“ﬁii“;af{?;;“;?"r“* by Charles
12 Miller synthesised simple amino acids from one of the (a) HMS Beagle (b} HSM '
: : : : b Beagle
following mixtures in his experiment {¢) HMS Eagle (d) HSM Eagle .
{a) CH,, NH,. H, and water vapours ' .

19. Evolution is
(&) Hy, 0;, N, and water vapours

{a} discontinuous process
'.':_. H: 1 ﬂz - C} and water Vapours {b] s hastic process
{d) CH,, NH,, O, and water vapours (¢} Both (a) and (b)
1. What did Miller obtained from his experiment? (d} ‘non-essential procéss
(8) Amino acid 20. Fitness according to Darwin refers to
(b} Organic compounds (a) reproductive fithess (b} physioogical —
(c) Peplide } (c) spiritual fimess (d) None of these
(d) All of the above ! 21. Theory of natural selection was given by
14. On early earth, organic acids were produced by the {s) Lamarck (b) Darwin
combination of H,; with ' {c) Alfred Wallace id) JBS Haldane
(3) ammonia and methanc (b) hydrogen 22. Scientist who also came to the similar conchusions.
(e} organic matter (d)- sulphates and nitrates around the same time of Charles Darwin wag
15, Information molecule that most likely evolved first on (a) Alfred Wallace (b) Hugo do Vries
the primitive earth was ' {e) TH Morgan (d) Oparia and Haldane
(8) protein (b) DNA #3. Malay Archipelago stands for
{c) RNA (d) All of these () m group of istands visited by Wallace T g
16. The first cell like structure initially appeared in (b) research paper on evolution written by Wallace
(8) air (b} mountain (€) research paper an ecology written by Walluos
(c) osesn ) soil (d} & group of organism studied by Wallace
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Evidences for Evolution

24. Evidence that evolution of life forms has indeed
taken place on ecarth has come from
{a) fossil studies (palacontological evidences)
(b} morphological and comparative anatomical study
() hiochemical srudy
(d) Al of the abowe

25. Fossils are the remains of
(2} hard part of life forms found in rocks
by hght part of life forms found in rocks
(c) protein and bones of life forms found in rocks
(d) Tat and protewn of life forms found in rocks

26. A study of fossils in different sedimentary layers
indicates
{a) phyvsiological pernod m which they exisied
(b} geological period in which they existed
(c) conditions in which they were living
(d) All of the above

27. Fossils are useful in
{a) studying extinct organisms
(b) stodying history of organisms
{e) Baoth (a) and (b) -
(d} None of the above

28. Which one of the following options gives one correct
cxample each of convergent evolution and divergent

evolution? (CBSE AIPMT 2012)
Convergent cvolutlon D:I_‘I__'Er_;iﬂr:uluﬂn

in) Eyes of Octopur and Bongs of forelinbs of
mammls verichrates

(B) Thoms of Bougainsillea sad  Wings of butierflics and
iendrils of Cucirbitn birds

—

Wings of burieell and birds
(d) Thoms of Bogsimillea snd  Eyes of Ocropur and
9 bemdrils of Cucurbitg mi:;;l; e

29. In the animals, the same structures deve
the different directions due to the mpﬁm tljun ¢
different needs. This is called
(=) comvergent evolution '
ib) divergent evolulion
(e) disruptive evolution
{d} directional evolutigy

30. Di'h'ﬂlﬂtm - . i
) omol Ohgves nse lp
(b) analogous organg
(c) Hﬂd’n{l}w;b}
{d) Hnunfh

31. What do presence of homologous organs in ifferen;
animals indicate?
(1) Differcnt ancestry (b} Common ancestry
ic) Independent development [d) I}:p..;“d:md:mm

32. Tendril of Cucrrbita and thomns of Bougainviliey oy,
examples of
{a) vestigil organs {b) analogous organs
{¢) homologous organs  (d) homoplasy

33. Which of the following structures is homologous
the wing of a bird? (CBSE AIPMT 2945,
{a) Wing of a moth (b} Hindlimb of rabbis
(c) Flipper of whale {d) Dorsal fin of a shark

34. Diagram given below indicates

Cucirhia

Bowngaimdes

-! ta)
! 3
Man Cheetah Whake Bal
i ) | i
F

(a) analogous organs (b) homologous organs
(¢} convergent evolution (d) All of these
85. The wings of a bird and the wmg of an insect g1 1"

(a) homologous structures and represent divergent Hj:t;';

(b) analogous structures and represent convergen! &

(c) phylogenetic structures and repeesent divergen
evolution

(d) homwlogous structures and represent convergen!
evolution
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86 The cyes ol Chtapus and eyes of cat show different
patterns of structure, vel they perform similar

funchon, This is an example of (NEET 2017}
o

{a) homohogons organs that hay ¢ evolved due 10 convergent
evolutvn

(b1 homologous argans that hayve evolved due i diverpen
evalubon

i<k amlawua organs that have evolved due 1o convergent
evoluhon

(dh anadogous organs that have evolved due to divergent
evohibion

37. The process by which organisms with different
evolutionary history evolve similar phenotypic
adaptations in response o a common environmental
I,:h-l."fﬂg'l':. i-ﬁ- called {NFI!:-T 013

(&) matural selection (b} convergent evolution
ie) non-random evolution  (d) adaptive radiation

88. Evolutionary convergence is the development of
() comimon st of characters in closely related groups
(b} common set of characiers in the group of different

ancesiry
it} mandom mating

(d) dssimilar characters in the closely related groups

39. Biochemical similarities arc based on study of
{8} similarities in carbolydrates of orpanisms
(b} similarities in fiat {farty acid) of organisms
() similarities in protein and genes of organisms
(d} All of the above

40. Change of lighter coloured variety of peppered moths
{Bision betularia) to darker variety in the industrial
era occurred due to
{a) selection of darker variety for survival
(b) deletion of gene
() industrial carbon deposited on the wings
(d) translocation of gene

Topic
Adaptive Radiation

48. Development of different functional structures from a
common ancestral form is called
(a) differenitial evolution (b) adaptive radiation
(¢} non-adaptive radiation (d) regressive evolution
47. The process by which different type of finches were
evolved in Galapagos islands is a consequence of
{n) adaptive radiation
(b} peographic similarity
(c) geographic dissimilarity
(d) sdaptive convergence

41. England in 18504, 1.e., before ind:mrrialisat'rur_l set in,
it wis observed that there were more white-winged
moths on trees than dark-winged or melanised moths.
However, in the collection carried out from the same
arca, but afler industrialisation, i.e. in 1920, there
were more dark-winged moths in the same area, i.e.
the proportion was reversed.

Predict the possible reason for such change.
(a) Malural selection

() Artificial selection

{c) Conditional sclection

(d) Divergent selection

43. Natural indicator of industrial pollution is

(a) slgae (b) fungi
{¢} lichen (d} bactena

43. Example justifying that anthropogenic actions lead to
evolution is the use of which of the following on large

scala?
(2} Herbicides (b) Pesticides
{c) Antibiotics (d) All of these
44. Industrial melanism is an example of
{CBSE AIFMT 8i5)
a) neo Darwinism
ib) natural selection
() mastation
{d) neo Lamarckizsm

45. Industrial melanism as observed in peppered moth

proves that

{a) hm%ﬁrmufﬂwmﬁhumuh:ﬁum#
over lighter form in industrial area

(b) the Iimmmmmmmm ither
in polluted industrial arca or non-polluted ares =

{c) melanism is a pollution-genernied festure

(d) the true black melsnic forms i
hiePies - arnse by & recurring

48, Which one of the following aspect of evolution is
shown by Darwin's finches?
(a) Biogeographic evidence (b) Industrial melanizm
(c) Biothemical evidence  (d) Embryological evidence
48, The diversity in the type of finches and adaptation to
different feeding habits on the Galapagos islands, as
observed by Darwin, provides an evidence of
(a) origin of specics by natural selection
(b) intraspecific variation
(€} intraspecific competition
(d) interspecific competition
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B0. Developmem of similar adaptive functional

51.

structural fog o ST :
y J:;II.:-; catures woan unrelated group of organism
fa) adaptive radiation
(e} Both (a) and (b}

ih) adaptive convergence
(d) evolution
Australian marsupials are the example of

(8} homologous radistion () snalogous rodiation
€} adaptive radiation {d} convergent radiotion

Identify what the given diagram indicates?
Tagrmanian wall

I
Bustralian
Marsupials

Koala e

Marsupial ra

Kangaroo
i) Convergent evolution {h) Dirvergent evolution
{c} Recapitulation {d) Paralfel evolution

Topic
Biological Evolution and Its Mechanism

56.

80.

Which concept was not included in Charles Darwin's
theory of natural selection?

(a) Survival of the firtest

(b} Struggle for existence

(e} Ower production of offspring

(d) Punctated eguilibrium

What's the difference between natural selection and
sexual selection?

{a) Sexual selection occurs during sexnal interéourse
b} Natural selection is a type of sexual selection

i¢) Sexual selection is an example of natural selection
{d) Sexual selection occurs within demes

What is meant by the term ‘Darwin fitness'?

(a) The ability to survive and reproduce

{b) High aggressiveness

(c) Healthy appearance

{d) Physical strength

Survival of the fittest is possible due to

{a) over production

{b) favourable vanations

{c) environmenial change

(d} inheritance of acquired characiers

Which of the following situation would most likely
result in the highest rate of natural selection?

(a) Reproduction by asexual method

(k) Low mutation is an stable environment

{¢) Little competition

{d) Reproduction by sexual method

63. Which of the following is n ;
adaptive radiation” ’ A SR of
la} Wombat, numbat, fying phalanges
(b} Darwin’s finches
tc) Different mammals in other parts of worly
(d} Lemur and spotied cuscus

Example of con vergent evolution is
{a) Drarwm finches and mursiEpel mouse
b} Placenial wolf and Tasmanian wolf
(e} Pliscental wolf amd Darwin finches
(4} Tasmanian wolf and marsupial mole

The classical example of adaptive rediation ip
development of new species is

(&) Darwin’s finches

(b} marsupials of Australia

e} locomotion in mammals

(d) All of the shove

B,

681. According to Darwin, the organic evolution is duew
{a) indraspecific competition (NEET Y1
(b} interspecific competition
(¢) competition within closely related species
(d} reduced feeding efficiency in one species doe o de
presence of interfering species
2. Darwinian fitness can be estimated by
{a) how long different individual in a population sarviv
{b} number of offsprings produced by different indivahal
in population
(¢} individual have a large size in population
{d) species recover after mass extinction
Which one of the following was not explained by
Darwinism?
{a) Matural selection {b) Straggle for existenct
{c) Arrival of the fiest  (d) Origin of species

Which of the following factor was not taken miv
account by Darwin in his theory of natural '
{a) Struggle for existence

{b) Discontinuous varistions :

{¢) Parasites and predators as natural enemies

(d) Survival of the fittest

Which one of the fhﬂmﬂwi:“‘
regarding the theory of natural selection®

(3) It was the first theory of organic evehutiofl_
(b) It does explains information decived from

; ! " e
{c) It has failed to explain the origin of vanstio™,
(d) It has succesfully explained concept of speciet®

-
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o8, which of the following are the two key concepls of
Narwinian theory of evolution?

I it

[ab (Fencis a1 o
by Adapiive rishiabion wndd hasalogy
jch Mutatsm amsd natrsl seleetioan

ey Branching descent ardd natural sebection

g7, Lamarck’s theory of evolution 15 also known as
i1 theony of use and disuse of organs
ik theory of genetic characters
i} theory of spontancous characters
id) theory of impose characters

Lamarekism arwinbm

1e1  Meglects survival of ihe Hased on survival of the
faluesl fittest

() Mome of the above

T70. Who proposed the concept of saltation?

{a] Darain
k) Mendel
(¢} de Wries
{d} Thomas Malthus

g8, What was the Lamarck’s explanation for long necked T1. What does the term "Saltation’ imply?
giraffes? (a) Excess of species at a given arca
() Strewching of necks over many generations (b} Reduced number of apecies due to saline environment
(b} Short neck suddenly changed into long one {¢) Oeeurrance of varistions gradually, step by step

;;‘; t;l'.;ur:uﬂr;::iamm {d) Single step large mutations

TZ. Which of the following statermnents would Darwinism
most likely disagree with?
- (2} Indivichuals within a population vary in the

g8, Which of the following differences between
Lamarckism and Darwinism is incormect?

Lamarckism Tarwinism - characteristics they possess
(8} Tt does not consider struggle  Struggle I’uu_x:um i ) Eﬁlﬂimﬂlm uz: R s B
for exisigme VEry important i this theory il
- : —H C—— D (¢} Matural selection is the mechanizm by which biological
(L] Gnirrﬂ vaﬂ:lnm afe All the scquined characters evolution takes place
frans e the nexi are inherited to the next - : . .
a : {d) The fossil record supports the view that biological
_ 1! ’ i R, - 4 evolution has occurred
Topic

Mechanism of Evolution and a Brief Account of Evolution

73. Hardy-Weinberg principle is the
{a) stable allele frequency in a population
ib) genetic structure of an evolving population

77. In Hardy-Weinberg law the homozygous dominant
alleles (1), homozygous recessive alleles (1) and
heterozygous alleles (I1I), are represented by

{c) varying allele frequency in a population I n m 1 1 m
{d) phenotypic structure of a non-evolving population 8 p* ¢ Ipg M p* ¢ Ipg
74. Genetic equilibrium refers to phenomenon that (€) a*° p' 2pyg (d) ¢* pq p*

{a) the traits remains constant in a population
(b} the 1otal genes remain constant in a population
(c) the wial genes keeps on varying in & population
{d) traits keeps on varying in a population
5. Hardy-Weinberg principle can be expressed as
(&) p1-3ﬂ+q==] (b) p‘1+1pq'+q121
E-:j-p1+2p¢+qlsi [d}p=+1pq+q1ul
78. Which of the following fi described
g frequency was described by e, .
Hardy-Weinberg for an entire population? heterozygous individual is represented by

(3) Genes {b) Genotype % (CBSE AIPMT 2015)
e} Phenotype (d) Allele (8 p° (b 2pg i) pg 4 g*

78. Which of the following conditions the extent
of evolutionary change in Hardy-Weinberg principle?
(a) Value of (p+q)*

(b) Difference between measured value and expected value
(c} Sum of measured value and expected value

(d) This principle can’t predict the extent of evolutionary
change

78. In Hardy-Weinberg equation, the frequency of
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B0, The tendency of
equilibrium may
(a} random mating
(b Iack of migrarion
() lack of mutations
{d} lack of random mating

population to remain in genctic
be disturbed by (NEET 1013)

81, Idemify the phenomenon in which a new set of

population is formed from the set of existing
population due to the random excessive change in the
allele frequency.

{a) Founder effect

(b} Genetic drifi

(<) Bonle-neck effect

(dp All of the above

Genetic drift operates in

(2) small isolated population

(k) large isolated population

(¢} non-reproductive population
{d) slow reproductive population

Identify the incorrect statement.

(8} In natural selection heritable variations enable better
survival

(b} Variations due to gene flow changes allele frequency in
fulure generation

() Gene flow occurs due to multiple gene migration

(dy Mone of the above

(CBSE AIPMT 2015)

B4. Natural selection can lead 10 ...4... {in which mogs
ndividuals acquire mean character value), . g,
(more individuals acquire value other than the meg,
character value) and ...C... (in which more individyg),
scquire peripheral character value at both ends of i,
distribution curve).

Choose the correct options for A, B and €.

{a} A-directional changes, B—stabilising, C-disruption
{b) A-stabilisation, B—directional changes, C—disruptios
(e) A—stablisation, B—disruption, C—directional ":h'“'-HH
id) A-disruption, B-directional changes, C-stabilising

. XX iz a type of selection process in evolution tha
promotes the population changes in one particular
direction *XX" favours small or large sized
individuals mean size of population changes. Identify
XX
(2} Btabilising selection
(e} DNisruplive selection

by Directional selection
(dy Mone of these

‘PP is & type of selection that favours both smali
sized and large-sized individual. *PP" eliminates mos
of the members with mean eXpression, so as to
produce two peak in the distnibution of the tract that
many lead to the development of two different
populations. Identify *PP".

(a) Disruptive zelection (b} Stabilising selection

(c) Directional selection {d) None of these

BY. Name the type of natural selection depicted in the given diagram (type I, type 1l and type I11).

bean Maan
Conservad Censerved
by selection
Fypal Efmingted Elminated
Misan
Tpa Elminatad
Eliminatad
- N
Typel Type Il Type 111 Type | Type Il Type 1L
ig) Disrupiive Dvirectional Stabilising (b} Directional Disruptive Stabilising
(g} Siabilismg Directionsl Dvigruptive (d)  Sihilising Disruptive Drirectional
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g8, Choose the mcormect pair. 104), Correet order of evolutionary scale js

ja) Invertebrates were famed and active By $00 myva i} Pulacoeoic —+ Archacoroic — Cenosoic

(hh Seaweeds exusted — Avowmd 3120 vy b} Archacoroic —+ Pulacozole — Proterozoic

(e} First organisms that invaded land single celled (e) Polacoroic — Mesozoie — Cenozig
amirals

(dy Mesoenic — Archaeozow —» Protereoc
{d) Fish with stout and strong fins - Arognd 150 mya

101. First dinosaurs and first epgg- Iaymj_'; fs were
g9. Name the animal that evolved into the firs probable originated in
assie perod

amphibians and Lived on both land and waler, () Jurpssic perod | Y
jal “hdb: ib) Coelucanth {c) Permian period (d} Cambrian period
| Amphioxus d) B . ” :
5 . P ) Balamaglossus 102. Identify the geographical periods (4, B, ) in the
g0. In which epoch, only modern humans prevanls? given diagram.
(&) Meinstocens {h} Holocene

fr—

ic) Pliocene (d) Miocene | "-me : ’

@1. There was no life in || e TGy S, Croccoles !! “
{#) Cenozoic era (b} Mesozoic era Cuenard. O ook Tt ] o |
(¢} Palaeczoic e (d) Azoic era

82. Which penod in geological time scale is considerad
the golden era of fish?
{#) Mississippian (b} Silurian
(¢} Devonian (d} Jurazsic

83. Giant dinosaurs and reptiles predominated during the
Jurassic penod. This penod was also marked for the

evolution of higher insects and angiosperms, conifers
cycads, etc. Jurassic period belongs to which era?

»

{2) Cenozoic (b} Palscozoic
() Mlesozoic (d) Proterozoic
84. During which period did the first seed plant appear?
(&) Silorian (b} Devonian
ic) Carboniferous (d) Cretaceous
85. The Cenozoic era is often designated as
(a) age of fish
(b} age of reptiles {2) A~Tertiary, B—Jurassic, C-Parmian
(c) age of mammals &) A-Tertiary, B-Permian, C- Jurassic
(d) age of amphibians {c) A-Permian, B—lurassic, C- Tertiary
B6. In which era Protozoa, sponge and algae originate? (d) A-Jurassic, B-Tertiary, C-Permian
{2) Cenozoic era 108. The first mammals were like ...4... . Their fossils are
(b) Azoic cra small sized. Mammals were __B... and protected their
(¢) Proterozoic era unbom young inside the mother's body.
(d) Mesozoic era Choosc the correct option for 4 and B to complete the
97. Which of the following is an extinct animal? Eiven statement.
(a2} Protopterus (b) Equus (&) A-shrews, B—viviparous
(¢} Archaeopteryx (d) Columba (b) A-monkeys, B-viviparous

{c) A-monkeys, B-oviparous

98. Mesozoic era is called the age of (d) A-shrews, B-oviparous

(a) fishes {b) amphibians
{::1 repliles (d) birds 104. Which phenomena confined the pouched mammals to

8. e —p— ical ti i Australia they survived because of lack of
P ST M GRORON 1P0R B competition from any other mammals?

(a} Muumif (k) E“m”"‘. () Continental origination (b} Continental shifting
(¢} Palacozoic (d) Proterozoi {e) Continental drift (d) Continental evolution
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Topic
Origin and Evolution of Man

105, Chiase the incorrect pair.
in) Romamihecws - Man-like
(b) Drvopihecs - Ape-like
(¢} Fossil of man-hkebores were discovered
i - Fthopia and Tanzania
{d) Auseralopithecus — Probably lived in Weslem
Afmica deserl
106. Which one of the following statements is/are correct
about Australopithecus?
{a)} They essentially ate fruits
b} Thev hunted with stone weapons
{c} They were mansititional stage between ape and humans
id) All of the above

107. First human like hominid 15 known as
ja) MNeanderthal man (h) Homo habilis

{c) Dryopithecus {dy Homo erectus
108. Brain (cranial) capacity of Homo habilts was

(a) 750-850 cc (b} 750-B00 cc

fc) 650-T00 cc {d) §50-T00 oo
109. The fossil finding suggest that closet fossil to Homo

habilis was

(a) Homo érectus ib) Homo sapiens

{c) Dryopithecus {d) Neanderthal man

110. What was the most significant trend in the evolution
of modern man (Homo sapiens) from his ancestors?
{a) Shortening of jaws (CBSE ATPMT 2011, 12)
() Binocular vision
{c) Increasing brain capacity
(d) Upnight posture

111, The extinct human who lived 100000 to 40000 years
ago, in Europe, Asia and parts of Africa, with short
stature, heavy eye brows, retreating fore heads, large
jaws with heavy teeth, stocky bodies, a lumbering gait
and stooped posture was (CBSE AIPMT 2012)
(8) Homao kabilis (b) Neanderthal human
{c) Cro-magnon bumans  (d) Ramapithecus

112. Homo sapiens most likely arose in
(2) India ib) America
() England (d) Adrica

118. Homo sapiens arose during
(2) ice-age between TS000-10000 years ago
(b) continental drift between 75000- 10000 years ago
(c) continental drift between 75000-5000 years ago
(d) ice-age berween 5000010000 years ago

t was the most significant trend in the evolutie,
of modern man {Homa sapiens) from his ancesior
{u) Shortening of jaws {b) Binocular visiom

(¢] Incrensed brain capacity (d) Upright posture

and Cro-magnon

114. Wha

115, Homo samens neanderthalensis
man, probably originated from
(a) Homo erectus by Home habilis
icl Ramapithecus (d} Proconsul

116. The difference between Homa sapiens and the Homg
grectus was
(a) Momo sapiens originated in Afri

originated in Asia

(b} Homo erechus Were muc

saplens
{¢) Homo erectus stayed in Africa, while Hameo sapiens dd

ot
(d) the size of the brain af Homo erectus was smaller ta

that of Heme sapiens
117, XX lived 100000-40000 years ago, in Europe. Am
and Africa. ‘XX’ was short stature, hairy eyebrows.
sctreating forehead and large jaws. Identify ‘XX
{a) WNeanderthal man (h) Homo habilis
{¢) Cro-magnon man (d) Drvyvopithecus

118. The chronological order of human evolution from

early to the recent stages 15

(a) Ramapithecus — Australopithecus —+ Home habils -
Homo erectus

(b} Australopithecus —» Ramapithecus —+ Homo habilis =
Homo erectus

(¢) Pithecanthropus pekinensis — Homo habiliz — Hom
Erecius

(d) Australopithecus —» Ramapithecus —» Pithecanthrof
pekingniis — Homa erectus

119. The diagram given here shows the skufl of twe
different mammals, Choose the most appropriete
difference between 4 and B. -

L9

(&) Skull A has more tecth than skull B

(b} Skull A has more brain capaciry than skull B
(c) Shlllhiluhhmmn-dukuﬂﬂ'unfnl?
id) Shu]lhiluflnlpamdﬂullﬂisufhunlﬂ

ca, while Homo eremy

h smaller in size than Homg
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. |
Special Format Questions |

1. Assertion and Reason
& Direction (@, No. 120-134) In cach of the following

guestions, a statement of Assertion {A) iz given
folipwed by correspan ding statemen! of Reazon(R).
(¥ the statements, mark the correct answer as
ia) Both A and R are true and R is the correct explanation
of A
b} Both & and B are true, but R is not the comect
explanation of A
i) Ais e, bt R is fulse
(d} A s false, but B is true

130 Assertion (A} Theory of chenucal evolution
proposed that life come from pre-existing non-living
organic molecules,

Reason (R} The primitive carth conditions led to
production of orgame molecules.

121. Assertion (A) The theory of special creation states
that diversity was always the same since creation.

Reason () The species on present day earth were
created as such,

122, Assertion (A) Earth is billions of years old,

Reason (R) This inference has been established by
radivisotope dating methods.

123. Assertion (A) Earliest organisms that appeared on the

were non-green and presumably anserobes.
Reason (R) The first autotrophic organisma were the
chemoautotrophs that never released oxygen.

124. Assertion (A) Microgphercs are believed o be the
precursors of life.

Reason (R) ]'uhm:nsph:::m are self-duplicating
aggregates of proteins surrounded by lipid bilayer.

126. Assertion (A) Animals adopt different sirategies 1o
survive in hostile environment.
ll'.ulnl_ {R) Praying mantis is green in colour, which
allows it to merge with plant foliage.

128, Assertion (A) Natural selection is an outcome of the
differences in survival and reproduction among
individuals that shows variations in one or more
lraiig,

Elﬁl (R) Adaptive forms of a given trait tend 1o

ome more common, Less aduptive ones becomes
less common or disappear.

127. Assertion (A) Whales and mammals share
similarities in the pattern of bones of forelimbs.
Reason (R) These organisms developed along
different directions due to adaptions to different
needs.

128. Assertion (A) Analogous structures are different in
appearance having same function.
Reason (B} Divergent evolution leads to analogy.

129, Assertion (A) Lichens act as pollution indicators.
Reason (R) Lichens will not grow in areas that are
polluted.

130, Assertion Adaptive ability is inherited from
generation to generation.

Reason () Some organisms are better adapted to
survive in an hositle environment.

131. Assertion (A) Hugo de Vries said mutations cause
speciation.

Reason (R) Mutations are slow changes.

132. Assertion (A) Allele frequencies in a population are
stable and is constant from generation to generation.
Reason (R) In Hardy-Weinberg principle the gene
pool remains constant,

133. Assertion (A) Human ancestors never used their tails
therefore, the tail expressing gene were disappeared
in modern humans. i
Reason (R) Lamarck's theory af evelution is

popularly called the theory of continuity of .
germplasm.

134. Assertion (A) Among the primates, chimpanzee is the
closest relative of the present day humans.
Reason (R) The banding pattern in the sutosome

“_“ﬂllhﬂl 3 and 6 of man and chimpanzee is remarkably
similar.

[l. Statement Based Questions

138. Which of the following is the correct sequence of

evenis in the origin of life? (NEET 10%&)
1. Formation of protobionts.
[, Synthesis of organic monomers.

111, Synthesis of organic polymers.

IV. Formation of DN A -based genetic systems.

{a) 1, 1L, 110 and IV (s} 1, LEL, 1L IV

() 10, 110, | and IV iy 11, 10, IV and |
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136, Which of the following statements are correct about
the characterisiies of protobionts, hike rcrospheres s

envisaged in the abiogenic orgim of life!
1. Thiy were able to reproduce
Il They could separate the combinations o Fnalecules
frowm the surroundings
1. They were partially solated from the surroundings.
V. They could mamtain an intemal envirenmen|

absolutely
Choose the comrect option,
iah 1 and 11 l:_bjl 11 and 11

() Moand TV {dy 1,10, 1l and IV

137. Which of the following statements stands in favour of

abiogenesis?

1. Spontancous generanon.

11. Origin of viruses and microbes.
11 Origin of life from living organisms.
TV, Onigin of life from non-living matter,
The correct statement is
{a) 1and Il

() 1 and IV

138. | Randomselection.

I1. Convergent evalution.
M. Genetic drift.
V. Divergent evolution.
Choose the correct option for Sewall's effect from

(b) 11 and 11
(d) Only IV

above option (s).
{a) | andIl (b} IIf and IV .
{c) Cmly I (d} Only IV

139. Which of the following are the correct pair of
homologous organs?

I. Hands of man and wings of bat.

[I. Wings of bat and wings of cockroach, ™"
I Wings of bird and wings of butterfly. :
IV. Fins of fish and forelimbs of horse.

V. Forearm of human and forelimbs of horse,
The correct combination is visible in optilon.
(a) TandTl (b) Land V
(c) 11l and IV (d) IV and V

140, Which of the given pairs are correct?

1. Wings of insects and birds are homologous organ.

1l. Wings ofbats and birds are homologous organ,
. Wings of insect and bats are analogous,

IV, Wings of insect and birds are analogous.

Choose the correct option.
(8) land Il (b) 1 and L1l
{c) Land IV (d) LL, 101 and IV

141. In his theory of evolution, Lamarck explained
I Internal vital foree,
1. Effect of environment O ONganisms.
1. Inheritance of acquired characters.
IV, Useand misuse of organs.
{hoese the cormect combination.
{a) 1and Il (hy 1 and I0i
{cy 100 and IV (dy I, 10 000 and IV

142. Select the incorrect statements.
1. Matural selection is essential for evolution,
11, Natural selection docs not include variations,
I11. Conceptof natural selection was given by Hugo de
Vies,
IV, Mutation is a sudden inheritable change
V. Synthetic theory is also called Neo-Darwinism thee
of evalution.
The comect combination 15 a

{a) 1, 1T and 111 (b) IL I and I'V
(c) ML IV and V {d) L and Il

143. Which of the following phenomena supports the
Darwin's concept of natural selection in organic
evolution?

I. Development of transgenic animals.
I1. Production of Dolly,
11l Increased prevalance of pesticides has led to pestiod
resistance in insecls.
V. Industrial melanism.
Choose the correct combination.

(2) 1and I1 (b) T and TN
(c) 111 and IV (d) 1and IV

144, Lamarck’s concept of inheritance of acquired
characters was discarded by

L. Mendzl"s laws of inheritance,
1. Theory of natural selection.
1. Mutafional theory.
IV. Theory of continuity of germplasm
Choose the correct combination of the given optio™
to complete the given statement.
(a) land 1 (b) Wand 10l {c) land IV (d) Diand ¥
146, Which of the following features are connected Wil
the modern theory of evolution? '
|. Genetic and chromosomal mutation.
11. Genetic recombination amd natural selection.
I1I. Reproductive isolation.

The correct combination is
(&) 1andll () 1 and 11
(e Tand 11 {(d) I, 10 and LI
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j48. Which of the following stastements are correct”?
I Gurvivilof thie fittest s hased apon the chamwtensics

that wre inhenied

1. Darwin's vanatons are srnall amd directional,

1. The fitncss is the end resuliofthe ability 1o adapt.

IV, Geenaetse drift is operaies m small popolatsis

v (remebe drift operates i Targc popilations

V1. Presence of genenie Jnil upsets the Hardy- Weinberg
equilibrium,

Choose the cormest aplion,

i) 1, 10, 110 and IV

b IV W W hand T

it LI 1L Y and W1

it EOLRIE 1 and VI

Which of the following statements correctly defines
the phenomenon of genelic dnfl?

1, Random change in gene allele frequency.

I1. Oecurby chance.
(1. 0w direchonal.
IV, Causes climination of certain alleles.
W, Couses fixation of alleles.
The commect combination is
{ap 1. 1 and ITI {b) 1L, IV and ¥
feb 1100 and V (d) LILIY andV
. True statements regarding the genetic drift is/are

L. it mostly oocurs in smaller populations,

I1. certain alleles can be losi forever because of genetic

dnft.
M. founder effects and bottle neck effects are caused by
genetic drift.

IV mutations are primarly responsible for genetic drifi.
The correct combination showing true statements is
{a) Omly I (b} i1l and TV
(e} I and 1V (dy Al except TV

148, Which of the following statemenis regarding the
evolution of plants and animals are correct?

1. Amphibians evolved into reptiles.
1I. Fish with stout and strong fins could move on land and

147.

148

go back to water. This was about 350 million years ago.

L. Giantg ferns fell to form coal deposits slowly,

IV. About 65 million years ago dinosaurs died out,

V. Archaeopteryx is the connecting link between birds
and reptiles.

The correct combination is

{a) 1and 1l

(b) Il and IV

ic) Vand]

{d) LIL LIV and WV

160, Murk the correct statemenis
1 Figmsess of individisils menns reproduetive fitness

I, Hlomuobogy in wertchrate bram indscates commaomn
ey,

U1, Theory of sequired character was given by de Vries,

IV, Adier mdustrisdisaiion, ihe white maoth population
decreased due o predators,

The corrcet oplion is

i@} L, 10 ond L10
ey 1L 100 o 1V

(B L, 10 and 1V
{dy 1, 11 and TW

151. Natural selection

I, tends to imcrease i1t characiers thai enhances survival
anidl reproduction,

1I. causes adaptahon.
[11, acts om organism phenotype.
V. mechanism of evolution explained by Darwin.
Which of the folowing statements are comect?
{a) 1, IT and 101 (b} Land Il
{c) T1and IV (d) 1, W1 and IV
152, Choosze the incorrect statements.
I. The essence of Darwinian theory about evelution can
be seen in the phenomenon of natural selection.
1. The rate of appearance of new forms is not linked to the
evolution.
11, Adaptive ability is a complete evolution.
1V, Mutations are random and directionless.

(a) TandIT (b} 111 and 11
(c) 1and Il (d) Tand IV

163. Evidence which favours the theory of acquired
character are

L. the absence of limbs in snakes. .
I1. the presence of webbed toes in aquatic bird:,
111, tack of pigments in cave dwelling animals.
1V, darwin finches.
V. melanisation peppersd moths.
Choose the correct oplion, -
(a) land I {b) Il und (U
(e) 1, 10 and TV (d) 1, 1 and ILI
1B4. When a species gels separated geographically, it
evolves separately. Which of the following condition
would determing whether they are now different
species?
1. They fail io interhresd.
11, They failed to give tertile offspring.
ITl. They have different coluured body.
IV. They appear morphologically slightly different,
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Choose the comect combimnation from given oplions,
ia) | amnd 11 by 18 and 111
€} 1l and IV (dy 1 and 1V

168. From one population to other, the new mutation
spreads by
1. bonle neck effect
1. budding
M. immigrants
V. sexual reproduction
Y. binary fission
V1. asexual reproduction
Choose the comect combination.

(a) 1and 1l (B 11 and TV
{c) IV and V1 [} Tand %1
158. In which of the following situations would evolution
; - —
Variations due to
Migrathn Selection Pressure h_"ﬂ._!l.ﬂ;ll‘l_
_l ) __Ahmt __ L-.-w W Low
W. ~ Absest High High
m High _Low High
v. High High Low

Select the correct answer using the codes given
below.

(a) TandIl {b) 1 and I

{c) 1and IV (d) I, 111 and IV

. Identify m%\m? )m the given diagram?
73S

©\]/2

-
{\@4“{\

L Natural selection,
Il. Adaptive radiation.
1. Ecological succession
IV. Different species of finches by mutation,

(a) land I (b) Tand I1I
(c) LI and IV (d) U and IV

1568. Find out the wrong statement about Homo habiliy,
1. Alsocalled able or skil ful man.
11, Alsocalled tool maker.
Hi. Fossil discovered from East Africa.
1%, SO0 cc was its cramal capacity.
V. Have tecth like modern man.
V], Lived nearly 2million years ago.
The correct choice 15
{a) 1V and ¥
{ey 11, 1l and VI
168. Which of the following statcment is correct regarding
the evolution of humans?!
[. Theskull of adult chimpanzee 13 more like adult humgg
shkull than baby chimpanzee skull,
11, The skull of baby chimpanzee is more like adult humay
than adult chimpanzee skull.
[1l. Dryopithecus s oldest human-like fossil.
IV, Dryopithecus was found in Miocene rock of Africaand
Europe.
The correct option is
ia) Iand Il
{c) I and IV

{h) 1, 11 and ¥
(dy 1,00 100, 1Y and W]

(b) Iand 111
{d) IL, 11 and TV
160. Primates which existed about 15 million years ago
Was/ Were
1. Dryopithecus
1. Homo habilis
1. Ramapithecus
IV. Australopithecus
V. Homo erectus

V1. Neanderthal man
Choose the correct option. :
(a) land TI (b) 1l and TV
() Vand VI {d) 1and 11l
III. Matching Type
161. Match the following columns. :
Enllnl ] {.'El i
-'u Dml.r!.n I. Imherited .7
H- G:m:u:: dnﬁ 2. Mot mh_tl‘ilﬂi
C I'u'lummn in [unnﬁ:!ln 3, HMS_B:I:_'H_
D. Mutation in somatic cells 4.  Founder effisct
Codes
A B C D A B C 1:
(a) 1 2 3 4 by 3 4 1 :
)3 4 2 1 (d) 4 3 -
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(62, March the following columms,

Column | iColumn I
A Analogous organs I Owiogeny repeat phylogeny
B, Miller and Urey 1. Expermyent {chemical

euiiines)

€. Opann and Hakdans: 3. Chemical evolution (theary)
0. Human embryo have gill 4. Wings of bird and butierdly

Coades
A B C D
(a4 3 1 2
(bl 4 2 i 1
i 1 r | 4
4 3 2 1
163. Match the following columns.
Colwmin I l:':h_“
A, (renetic drify i. Change in ibe populstion’s allele
- o frequency due 1o chance alone
B Naumiscletion 2 Difference in survival individusis
C. Cene flow 3. Trumipraticn or emigmtion
o Mm:]hk_ﬁ::mm:y
0, Muanon 4. Sowrce of the new alleles
Codes
A B C D A B B
{a) 1 2 3 4 by 1 i 4 3
(<) 1 4 2 k! (d) 4 i 1 3
184 Match the following columns
: Column 1 Columm 11
A, Wallace 1. Mataral s=lection
B. Malthus 2. Essay of population
[ I-h'nh_t_-ii’dm;h 1. Biston beiularia .
D. Industrial melanism = 4. (p+g)=1
Codes
A B C D
(a) 1 i 4 3
w1 2 3 4
ey 1 I3 4 2
idy 2 3 4 1

185. Maich the following columns.

-L‘vul;-tln I Colamn [
A, Darwin I. Mamiral selection
B. Lamarck 2. Inheritance of scquired character
C. Pasleur 3, Swan-recked experiment
D do ¥ries 4, Mutational theary of mberitance
Codes
A B C D
@2 3 4 |1
M1l 3 4 1Z
(cy 1 2 3 4
id) 1 FAE 3
168, Identify the cranial capacity 4, B and C of the given
primates.
Primat Cranlal capacities
{an cubic ceatimetris)
1. Chimpanzes sod gorilla 4
2. Ausiralopithecus S0 o
3. Homa hobilis B
4. lava ape man B0 1000 o¢
5 Peking man C

(8) A~325-500 ¢,c B-900 cc, C—200- 1000 cc
(b} A-325-510 ce, B-700 cc, C-850-1000 co
(c) A-325-510 ce, B~T00 cc, C-850-1200 cc
(d) A~325-510 ¢, B-T00 ce, C-850-1400 cc

187. Match the column [ with column II and select the
cofrect option from the codes given below,

“Column 1 Column 11
A Mesozoic I, Fust amphibians
B, Devonken 2 Pro  ation of reptile
C. Palacocene 3. Rait  {modern mammals
D. Permian 'L_ Radiation of primitive masmmals
5. 160 million years
B C D
s 4 31 2
k) 5 I & 2
(c) 5 1 2 3
s 1 4 3

fl"-l-
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' NCERT Exemplar Questions |

168. The theory of spontaneous generation stated that
(a) life arose from livimg fomms anly
b1 Nvle con onse fronm both Dvimg amd non-living
(e Wife can arise from won-Dving things enly
id} hife anses spontameously, neither froim living nor from
ihe non-living

169. In 1953 SL Miller created primitive earth conditions
in the laboratory and gave experimental evidence for
origin of first form of hife from pre-existing
non-living organic molecules. The primitive earth
conditons created nclude
(Al low femperature, voleanic storms, mmmphcr-: rich in
OxXyEen

(b} low temperature, volcanic storms, reducing atmosphere

{c) high temperature, volcanic storms, nog-reducing
atmosphere

(d) high temperamure, velcanic storms, reducing atmosphare
containing CH,, WH, etc.

170. Palacontological evidences for evolution refer to the
(a) development of embryo
(b) homologous organs
(c} fossils
{d) analogous organs
171. Fossils are generally found in
(a) sedimentary rocks {b) igneous rocks
(¢} metasmorphic rocks  (d) any vpe of rock
172. The bones of forelimbs of whale, bat, cheetah and
man are similar in structure, because
(a) one crganism has given rise to another
(b) they share a common sncestor

{¢) they perform the same funchion
(d) the have biochemical similaritics

178. Analogous organ: arise due to

(a) divergent evoluiion
(b} araficial selection

{c) genectic dnft
{d) convergent evolution

174. Which of the following is used as an atmospheric
pollution indicator?

(a) Lepidoptera (b} Lichens
(¢} Lyeopersicon (d). Lvcopodium

175. Animal husbandry and plant breeding programmes
are the examples of

~{a) reverse evolution
(b) artificial selection
{e) mutation
{d) natural selection

178, Appearance ol antibiotic-resistant bactena is
example of
{ab wdiptive ragdiadien

{1 trensducteon
{c) pre-paishing variation 10 the population

(e divergent evolution
177. Maich the scientists listed under column [ with jdeg,
listed column 11.

{Calumn | C olamii 11
[Barwin 1. Ablogenesis
{hparin I Use and misuse of ongins

Lomarck Continental draft theory

Evolution by natirel selection

¥

[h. Wagner 4,
Codes
&

B

{a) 1 &
M4 1
4

3

-
i

ic)y 2

id) 4
178. Variations during mutations of meiotic

recombinations are

{a) random and directionless

(b} random and directional

{c) random and small

id} random, small and directional

179.(p + g)? = p* +2pg + g? =1, represents an
equation used in
(a) population genetics
by Mendelian genetics
ic) biometrics
(d) molecular genetics

180. Which type of selection is industrial melanism
observed in moth, Biston bemularia?
{a) Stabilising (b} Drircctional
{c) Disruptive (d} Artificial
181. Evolution of life shows that life forms had a tread o
moving from
{a} land to water
{b) dryland to wet land
(e} freshwaler fo sea watar
(d) waler 10 land

182. Which of the following is an example for link.

bd kb bd P

species” .
(a) Lobe fish {h) Dodo bird
{€) Sea weed {d) Chimpanzes
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183. For the MN-blood group system, the frequencies of M

and ™ alleles are 0.7 and 0.3 respectively, The
expected mequency of MN blood group bearing
organisms 1s likely to he

(&) 42%

(] 49%,

{eh ¥

(di 58%

184. Viviparity is considered to be more evolved because

() the young ones are left om their own
(b) the young ones are protected by a thicks shell

{c) the young ones are protected inside the mother’s body

and are looked after they are born leading b0 more
chances of survival

(d) the ¢embryo takes a long lime o develop
185, The most accepted line of descent in human evolution

(NEET 1018)

(a) Austrolopithecus = Ramapithecus —» Hame sagiens

— Homo Fabilis

(b Mowno erecius — Homio kabilis — MHoma sapiens
(c) Ramapithecus =+ Homo kabilis — Homo sapiens
(d) Awsrralopivhecws — Ramapithecus — Homo erectus

¢ Momo habills — Homo sapiens
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